The Critical Use of Source Materials in CRTW
This is an exercise designed to look at ways you might use sources as support for a pitch. It asks you to look at three things: the use of signal phrases to introduce and evaluate sources; the way the source is used to support the SEE-IT structure; and the skill with which the source is handled. To complete this exercise, use your Prentice Hall Handbook, “The Correct Use of Borrowed Information” statement that is bound in it, and the original sources (http://faculty.winthrop.edu/kosterj/crtw201/slideshows/originalsources.htm). Look at how the student writer has used the original sources and decide if you think they have been used correctly.
A. How well are sources integrated into the critical thinking & writing in this paragraph?

“Over some parts of Antarctica, up to 60% of the total overhead amount of ozone (known as the column ozone) is depleted during the Antarctic spring (September-November)” (Ozone Basics). This phenomenon is known as the Antarctic ozone hole. In the Arctic Polar Regions, similar processes occur that have also led to significant chemical depletion of the column ozone during late winter and spring in 7 out of the last 11 years. The ozone loss from January through late March has been typically 20-25%, and shorter-period losses have been higher, depending on the meteorological conditions encountered in the Arctic stratosphere. Smaller, but still significant, stratospheric decreases have been seen at other, more-populated regions of the Earth. Increases in surface UV-B radiation have been observed in association with local decreases in stratospheric ozone, from both ground-based and satellite-borne instruments (Ozone Basics).

1.  Can you tell clearly where each piece of source material starts and ends?

2.  Do you suspect that quotation marks are missing here? Is this a good paraphrase?

3.  Do the signal phrases help you understand how this fits in the writer’s argument?

4.  Does the writer use these sources to help support his/her paper or are they just plunked in with the reader being expected to understand how they support the argument?

5.  Who is doing the most work here—the reader, the writer, or the sources? Who is doing the least work here?

6. Is this a good use of SEE-IT?
B. How well are sources integrated into the critical thinking and writing in this paragraph?
Even though the Chinese have amazingly won support for this they will have trouble maintaining this as an effective tool to control population with their economy growing as quickly as it is.  Their current system of enforcing the One Child Act is largely based upon economic incentives such as couples that take the one child pledge receive monthly stipends of around 5 percent of an average worker’s wage until the child reaches 14 years of age, preferred treatment when applying for housing, increased maternity leave, and they are eligible to receive a superior health and education package for their child (Hesketh 1997). In rural areas larger areas of farmland are offered first to the parents following the One Child Act (Hesketh 1997). The problems with these perks are that they are going to be seen as less enticing as China’s economical freedom expands.  China needs to make a move more towards having “small family culture” (Hesketh 1997). 

1.  Can you tell clearly where each piece of source material starts and ends?

2.  Do you suspect that quotation marks are missing here? Is this a good paraphrase?

3.  Do the signal phrases help you understand how this fits in the writer’s argument?

4.  Does the writer use these sources to help support his/her paper or are they just plunked in with the reader being expected to understand how they support the argument?

5.  Who is doing the most work here—the reader, the writer, or the sources? Who is doing the least work here?

6. Is this a good use of SEE-IT?
C. How well is the source integrated into the critical thinking and writing in this paragraph?

In “Poachers Alter Mammal Abundance, Seed Dispersal, and Seed Predation in a Neotropical Forest,” a domino effect is presented.  The researchers in this particular study “…evaluated the hypothesis that poachers reduce the abundance of herbivorous mammals, and that this, in turn, alters seed dispersal, seed predation, and seedling recruitment... (Wright, 227).”  This basically points out that poaching causes many negative effects on the land.  While it seems that the problems with the plants are on a smaller scale, poaching will eventually cause more difficulties on a larger scale, with an unhealthy influence on different kinds of plant life, causing many of its species to suffer. Governments and citizens see the short-term effect of poaching, but they may not think about the long-term effects the reduced number of species can cause.
1.  Can you tell clearly where each piece of source material starts and ends?

2.  Do the signal phrases help you understand how this fits in the writer’s argument?

3.  Does the writer use these sources to help support his/her paper or are they just plunked in with the reader being expected to understand how they support the argument?

4.  Who is doing the most work here—the reader, the writer, or the sources? Who is doing the least work here?

D. Here is a complex one. Read it carefully and pay close attention to how the sources are being used.


By the end of 2001, the Population Reference Bureau (2002) expected that 7.1 million adults and children in the Asia Pacific region would be infected with HIV/AIDS. Currently, they believe Asia has the highest climbing curve and has the potential to become the region with most HIV infections. The Bureau believes in order to control the pandemic in Asia, government workers in Asia have decided to focus on at-risk groups, such as drug users, sex workers, and migrants. Government officials are trying to alert the public of what is going on (Population Reference Bureau 2000 World Population Data Sheet 2002). Personally, I feel this is a great idea. Instead of watching the health of their community decline, government officials are stepping in and trying to control it. 
The Population Reference Bureau 2000 World Population Data Sheet (2002) points out the majority of cases were found in women. The high percentage of women infected was attributed to poverty, low social status, and illiteracy (Population Reference Bureau 2000 World Population Data Sheet 2002). This fact caught my attention. Even though the government is trying to help the welfare of the public, if the public has a personal problem, is their particular problem a stumbling block? The categories that most of the women fell in were all related. The women presented in the data all represented underprivileged and low-educated women. It is possible that their ignorance could affect their sexual behavior and choices. If the women are not aware of what is going on around them, how can they protect themselves? The Population Reference Bureau 2000 World Population Data Sheet points out that other factors such as the cultural and political disabilities placed on women could increase their rate of infection because of the lack of control Asian women have over their sex lives and even on their husband’s sexual behavior (2002). These facts prove that despite the government’s action, if the problem is not addressed from the bottom, it will not be solved. If Asian women can begin to educate themselves and learn about HIV/AIDS, they can then begin to educate their husbands. Here and only here can the problem or pandemic at hand begin to end for Asia.
1.  Can you tell clearly where each piece of source material starts and ends?

2.  Do the signal phrases help you understand how this fits in the writer’s argument?

3.  Does the writer use these sources to help support his/her paper or are they just plunked in with the reader being expected to understand how they support the argument?

4.  Who is doing the most work here—the reader, the writer, or the sources? Who is doing the least work here?

E. Here’s one last example to consider carefully. Again, look very closely at the originals before you make your decisions.
Population must be addressed before the environment will be helped.  Most of the increase in population occurs in developing countries because they have a high poverty level and lower education.  For instance, Brux states that low income countries have a high population because “more people means more sharing of already limited resources” (179).  Increase in births causes a problem because there are not enough resources to keep the infant mortality rates low, so there is a need to reproduce.  Brux continues to describe how low income countries have a high number of children:

Clearly, people have important reasons for having the children that they do.  In agricultural societies, children are necessary to provide labor on the farm and assist their mothers in gathering water and fuel.  Because poor countries lack formal social security systems, and because poor people are often unable to accumulate savings, then having children is usually the only means that parents have to ensure that they will be cared for in their old age.  And finally, as long as women expect that a certain number of their children will die…they will have ‘extra’ children to ensure the survival of a certain number (179).

Ninety-five percent of the increase in population comes from developing countries (“Pressure on the Eco-Seams”).  This large amount is because of poverty rates and the limited resources that are provided.

What happens if the population rates start to decline?  Understanding the dangers of more and more people sharing fewer and fewer resources is necessary, but if the population begins to decline will countries need to worry?  In an article in The New Statesman, “A World without Children”, Mark Leonard states that:

For a population to remain stable, women must have an average of 2.1 babies each.  In the UK, women are having just 1.7.  In Japan it is 1.4.  In Spain it is just 1.15 (in some parts of Spain it has dropped below one.)  The unexpectedly sharp decline in fertility around the world has forced all forecasters including the UN – [SIC] to revise their predictions of when world population will peak before falling back (Leonard).

Many theorists never considered underpopulation as a problem. For instance, there has been an increase in the status of women around the world.  Women are more likely able to choose the size of their family and are able to work, instead of staying home to raise their children.  The increase of women having careers and economic success has contributed to the decline of births.  Frances Cairncross expresses, “As a country grows richer, it reaches a point at which its average family size sharply diminishes” (Cairncross).  The increase in GNP can help in countries becoming wealthier and this will help decrease population.  Also, since higher education is mostly needed to get a well-paid job, families have to consider putting their children through college and paying for that expense. For instance the more children they have, the more money they will have to spend. These are unintended consequences that lower family size.

1.  Can you tell clearly where each piece of source material starts and ends?

2.  Do the signal phrases help you understand how this fits in the writer’s argument?

3.  Does the writer use these sources to help support his/her paper or are they just plunked in with the reader being expected to understand how they support the argument?

4.  Who is doing the most work here—the reader, the writer, or the sources? Who is doing the least work here?

Questions to remember:
1. Is the writer of the paper doing the most work? Is s/he in control or are we reading notecards pasted together? In other words, whose critical thinking, reading, and writing is the paper demonstrating?


2. Can we tell specifically where each source starts? Has the writer chosen signal phrases that help us interpret how that borrowed information should be regarded?


3. Can we tell specifically where each source use ends and we go back to the writer’s control?


4. Are direct quotes used for the impact of their language as well as their content?


5. Are paraphrases in the writer’s own words and word order? Do they accurately reflect the original source’s content and interpretation?


6. Are summaries concise and used for information delivery and context?
7. Remember that you must document QUOTES, PARAPHRASES, and SUMMARIES. And that includes starting with signal phrases and ending with a parenthetical citation.


8. Are the retrieval citations in perfectly correct form, thus contributing to the readers’ belief in the writer’s accuracy, honesty, and credibility?
